Rode Heath Primary School: Week 5 Challenge day 2: Charlie Mackrory Year 2.
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Homophones: two, too, to

These three words are often misspelled or used incorrectly.

Here are some examples of two, too and to:

Complete the sentences using the correct homophone.

1
2
3

1 am going to the cinema.
Itis too wet to play outside!
Can I come along too, please?

There were two fish in the bowl.

There were WO _ cookies left in the tin.
Tusuallygo__tO my gran's house at the weekend.
1didn't need my coat today as it was__£00Q_hot.
1can paint well but 1 am good at drawing_tOO.
Tlikegoing_ £O _ the park with my friends.
Canwetake _ LWO presents__tO__the party?
Tam full because Tate 10O mucht

Thave WO cats and one dog.
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Problem solVIng m Your turn

| Complete the calculations. 2 An apple and banana cost the
same as a pineapple.

Two pears cost 40p. 1 pear = 40p/2= 20p

Bananas cost the same as 1 pear = 20p = 1 Banana
pears.

An apple coste 3p less than a1 1o — (1ea)20p —3p = 17p

pear.

What is the cost of a

pinecpple? (apple) 17p+(banana) 20p = 37p
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Problem Solving (D vour turn

3 Ronand Evaare standingina Y Use the information fo put the
line of children. children in the correct order.

Ron is the 2 person from the *  Ronisin front of Amir.

front of the lne. * Whitney is 3 from the

Eva is the 2™ person from the back.

back of the lne. * Amir is 2% from the front.

There are 2 people between

them.

*  There are three children

between Ron and Dexter.

How many children are in the

line?

2D
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